= A
N = 0] &F AF S & AN A
20148 = 20 AH LBt H Jl=XI& Dt
M Jl=X&
HE: ASBHES 98 JeNA(SYHS LM /5Y - 58)
Sl S42 RSHIA MM CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Jl= X &t 11,679,872 9,978,925 1,700,947
= 4,275,331
2 349,000
J| 134,125
&< 1,537,088
Al 5,384,328
ASZUHE st JI=Xd(seHllYdxd/sH - ==) 11,548,758 9,758,404 1,790,354
= 4,275,331
2 349,000
J| 134,125
= 1,537,088
Al 5,253,214
SN2 SFSHA MA 548,946 677,946 A 129,000
= 2,890
== 31,800
Al 514,256
k= 22| 2,890 2,890 0
= 2,890
201 gEt24y| 1,110 1,110 0
= 1,110
01 AP 22| H| 1,110 1,110 0
o¥= 2 1,110,000 1,110
= 1,110
202 04 d| 1,780 1,780 0
= 1,780
01 2L I 1,780 1,780 0
o=z 1,780,000& 1,780
= 1,780
SitE SEANE X 46,000 32,000 14,000
402 SI2vXHE0| ™ 46,000 32,000 14,000
01 QI2tXE8 X 46,000 32,000 14,000
O=sJlg N2MED B2 25,000,000& 25,000
OMEZ=E 22050 Y HH X
21,000,000 21,000
Feel A& &3 X 40,000 40,000 0
201 gBt24Ad| 30,000 30,000 0
03 A2 G HI 30,000 30,000 0
OFeeld Y SN2 Btg XS 30,000,000& 30,000
301 et A= 10,000 10,000 0
09 SHAIAHI B A2 10,000 10,000 0
OFeeldY ENME &3 XS 10,000, 000& 10,000
sSMHE AT SFSAE XH 63,600 160,000 A 96,400
= 31,800
Al 31,800




A s
HH: ASEUE A8 =N (sgHerd/5d - 5&)
H°? saE FSHA i (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
402 212t Xt=01 & 63,600 160,000 A 96,400
< 31,800
Al 31,800
01 2 t=E X 63,600 160,000 296,400
Q272 FSAME N 63,600,000 63,600
= 31,800
Al 31,800
st RSXE 69,056 66, 156 2,900
201 2Bt2 | 45,466 45,466 0
01 At 22l b 29,000 29,000 0
Ostt=RSAE 18,000,000 18,000
ogxtz 9,000, 000& 9,000
O=s&Hl 2,000,000 2,000
02 329l 16,466 16,466 0
OZ2S2SZLMA 3,000,000& 3,000
OA & &Hl s X 6,000,000 6,000
OXt& & gl 7,466,000 7,466
202 044l 9,590 8,590 1,000
01 ZLHO I 9,590 8,590 1,000
OZ2 =& 0l 9,590,000& 9,590
203 R =&Y 3,000 3,000 0
03 Al =X P2 F Y| 3,000 3,000 0
Osgl=Xd g2=a 2,000,000& 2,000
Os&=E FSHMAME 2= 1,000,000 1,000
206 28l 2,000 2,000 0
01 K28l 2,000 2,000 0
OZW A S#ALEIE AlA THZ24I
2,000,000& 2,000
301 YetE A 4,000 2,100 1,900
09 AL HIE& S 4,000 2,100 1,900
OR+stt=2 HHUAEH HF0UsIH 2HIEH
4,000,000& 4,000
307 giztol & 5,000 5,000 0
02 eFHEEES 5,000 5,000 0
OR+sttE A MY 5,000,000& 5,000
s&tE #AE0 X 327,400 376,900 249,500
206 T 2 bl 5,000 5,000 0
01 M= Hl 5,000 5,000 0
OZRSSHI=0 s =X 2H N2
5,000, 000& 5,000




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
el s&E RSHA KA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 2,400 2,400 0
09 HALAHIE& S 2,400 2,400 0
O33HI=01= HY SF¥a2 2432 X2
2,400,000 2,400
402 RI2EX=20l A 320,000 369,500 A 49,500
01 RIZEAI=2E X 320,000 369,500 A 49,500
Ostts Sg&4E '€, 88 N
250,000, 000& 250,000
ozl ZA XA 5,000,000& 5,000
O=E¢= HE0AHE XA 40,000, 000& 40,000
OMESEx= ZHIfSLH XA 20,000, 000& 20,000
O1NF0F ZEZIMA ALY 5,000,000 5,000
sttt =2 & ZSEE 489,617 530,357 A40,740
= 24,380
< 35,537
Al 429,700
SMELASETANEZE-ZAEAR 8,880 6,120 2,760
= 8,880
202 04 Hl 2,960 2,040 920
= 2,960
01 = LH 4 b 2,960 2,040 920
OsdE8 ASTA 24 2,960,000 2,960
= 2,960
301 et d s 5,920 4,080 1,840
= 5,920
NMIEEd=s 5,920 4,080 1,840
Osd28 ASTA 248 5,920,000& 5,920
= 5,920
SHIIHLE 15,000 17,000 A 2,000
= 9,000
< 3,000
Al 3,000
402 RIZ2FXt20l ™ 15,000 17,000 A 2,000
= 9,000
< 3,000
Al 3,000
01 QIZEAI 22X 15,000 17,000 A 2,000
O=sgzgALE X3 15,000, 000& 15,000
= 9,000
< 3,000
Al 3,000
Nesdll=8235 10,000 10,000 0
= 5,000
Al 5,000
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M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
Sl S42 +3 2 BT CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSSNE2 228E RLUE 1y (252)
3,000, 000& 3,000
OMEBES(AZE)AUHY E2H X
35,000,000& 35,000
OsSttEs E2E SEEQ B A &l X
2 10,000, 000& 10,000
402 RI2EX=20l A 45,000 48,000 A 3,000
01 RIZEAI2E X 45,000 48,000 A 3,000
OsttE dAaNHE TS X&
10,000, 000& 10,000
OXXaAHN=sIH EHOIX RAL=+H X
10,000, 000& 10,000
O¥M=sel SHXE ALY 20,000,000 20,000
O=sJt2HO0IX 2=X& 5,000,000 5,000
K&t s 16,000 16,000 0
< 6,000
Al 10,000
402 QI2H X201 M 16,000 16,000 0
< 6,000
Al 10,000
01 BIZEAI=2 2 X 16,000 16,000 0
OXAJIE Bl sy LY SEAY
16,000,000 16,000
S 6,000
Al 10,000
Al EFOE A At 6,840,569 6,189, 160 651,409
= 3,683,731
J| 32,125
< 713,670
Al 2,411,043
NEZH JI=23 30,250 64,700 A 34,450
< 14,800
Al 15,450
202 Odl 3,250 2,500 750
< 1,300
Al 1,950
04 =Xl =t 0d dl 3,250 2,500 750
Caz2dN2 3 Y JIzns 3,250,000 3,250
< 1,300
Al 1,950
402 RI2EX=20l A 27,000 62,200 A 35,200
< 13,500
Al 13,500
01 RIZERI2E X 27,000 62,200 A 35,200
OZM MAYEY L= AY
15,000,000& 15,000
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M BN
M ASTUE < JI=Nd(sgllLb/sdY - &)
CHel AZFOLE MM CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 7,500
Al 7,500
OEHEMHEME EIITHUH AlZ  12,000,0002 12,000
= 6,000
Al 6,000
DNEZE & MACX 24 54,000 48,000 6,000
= 20,250
Al 33,750
402 RI2HXt20l ™ 54,000 48,000 6,000
= 20,250
Al 33,750
01 222 E X 54,000 48,000 6,000
ONSE & MM =d 54,000, 000& 54,000
< 20,250
Al 33,750
H Hols 2 135,457 40,705 94,752
= 41,923
Al 93,534
206 M= Hl 17,152 22,400 A5, 248
< 6,432
Al 10,720
01 =8l 17,152 22,400 Nb5,248
O=sAUHH AL EHl XI& 17,152,000& 17,152
< 6,432
Al 10,720
402 RI2HXt20l M 118,305 18,305 100,000
< 35,491
Al 82,814
01 QIZEAI 22X 118,305 18,305 100,000
OH "ols s X 18,305,000 18,305
S 5,491
Al 12,814
oOdgols ReleS2HEl XA 100,000, 000& 100,000
< 30,000
Al 70,000
MASEEDFEAE 3,260,653 2,907,905 352,748
= 3,260,653
301 LBtEAZ 3,260,653 2,907,905 352,748
= 3,260,653
11IIEtEA S 3,260,653 2,907,905 352,748
ORASEEIZE B43 3,260,653,000& 3,260,653
= 3,260,653
M2 ME-"ED= 330,000 300,000 30,000
= 165,000
Al 165,000
402 RI2HXt20l 330,000 300,000 30,000




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
CHEl: AZHOIE M A
SA - ZE-B(EA) - NRAY - B S il &t o il
= 165,000
Al 165,000
01 QIZERI 22X 330,000 300,000
OS4YE HIGN AH oY MM A
100,000, 000& 100,000
= 50,000
Al 50,000
O0l= AXE SHALAIAH JI=E3AY
30,000, 000& 30,000
= 15,000
Al 15,000
0= 43NS As 423 AY
200,000, 000& 200,000
= 100,000
Al 100,000
ASEH DFAE AFH 32,125 32,125
J| 32,125
201 et 10,875 10,875
J| 10,875
01 At 22l 10,875 10,875
ORASEEdNZE HEH| 5,675,000& 5,675
J| 5,675
Od AR &3 29l 5,200,000 5,200
J| 5,200
202 oddl 8,800 8,800
J| 8,800
01 = LH o4 1l 8,800 8,800
ORASEMNZE HHH| 8,800,000 8,800
Jl| 8,800
301 LB A F 12,450 12,450
J| 12,450
1MIIEESS 12,450 12,450
oONASEdAEZE HEY| 12,450,000 12,450
J| 12,450
TAHEUNGHFIE 47,436 47,436
= 37,949
Al 9,487
201 LBr2EH| 1,000 1,000
= 800
Al 200
01 At 2t 2l 1,000 1,000
OxAEcIXY HIXNEM(EHYI)
1,000, 000& 1,000
= 800
Al 200
202 O4dl 944 944




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
ol AZOI M (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 755
Al 189
01 SLHOYI 944 944 0
OxA=2clXY HIXNESHM(EEHl) 944,000 944
= 755
Al 189
301 et d = 45,492 45,492 0
= 36,394
Al 9,098
1MIIEBESS 45,492 45,492 0
oOxd=elNg AFX =M 45,492,000 45,492
= 36,394
Al 9,098
BSESEHE J=sd-AsS4E 18,400 18,400 0
= 9,200
Al 9,200
101 124 dl 16,000 13,000 3,000
= 8,000
Al 8,000
04 JI2ZtHZ22XREES 16,000 13,000 3,000
OgoiE HEZ 41X - A 2H
16,000, 000& 16,000
= 8,000
Al 8,000
206 M= Hl 2,100 2,100 0
= 1,050
Al 1,050
01 24l 2,100 2,100 0
Odols 22X 2 (&) 2,100,000 2,100
= 1,050
Al 1,050
301 LB A F 300 300 0
= 150
Al 150
11IIEELS S 300 300 0
Ogolis 2&2Z 24 300,000 300
= 150
Al 150
Ori== ool e A 28,710 28,710 0
< 8,613
Al 20,097
301 et d=s 28,710 28,710 0
= 8,613
Al 20,097
NMIEEd= 28,710 28,710 0
OOtM=SZ= Hai24 X 28,710,000 28,710
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M Jl=X&
HM: ASEZUE At JI=X (sSHLdFM/ s - 5=)
ol AZOI M (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
[ 8,613
Al 20,097
NEZE A OrH MAH 1,160,941 1,047,692 113,249
101 Q124 H] 2,941 2,992 A51
04 JI2ZtHIZ22NEE S 2,941 2,992 AB1
ON&EZ 228X 2,941,000 2,941
201 et 9| 2,000 5,000 A 3,000
01 AR 22l ] 2,000 5,000 A 3,000
O MH= HE W= ALK 2,000,000& 2,000
206 M Hl 3,000 1,000 2,000
01 XHZ H| 3,000 1,000 2,000
odYdls ¢MyEE =& 1,000,000& 1,000
OssEdxss)| M2 7Y 2,000,000& 2,000
301 et A= 7,000 7,000 0
09 HAIAHI EAZ 7,000 7,000 0
ONEZ MMA H)I EAX AH A
1,000,000& 1,000
OFEZS MH datws A AH B4
1,000,000& 1,000
O MH= HE W= ALK 5,000,000& 5,000
307 2iz2to| & 6,000 6,000 0
05 QIZ2IRE 2 6,000 6,000 0
OOl Yl olH 2 &X 6,000,000 6,000
402 12t X0l ™ 1,140,000 1,025,700 114,300
01 QI2tXE8 X 1,140,000 1,025,700 114,300
ONEZE HMMAH HFHE HE XN
600,000,000 600,000
@) EQ0 ABAME B3 230,000,000& 230,000
oM AXMH HAXI| XS 45,000,000 45,000
ogz It 2 A 10,000,000& 10,000
osY Yols2LH X 100,000, 000& 100,000
OR=&1)] 22 XN 150,000, 000& 150,000
oRTE 0olsEgME & 5,000,000& 5,000
MO s=AHPAIS 244,000 188, 250 55,750
207 A F I 2| 1,000 1,000 0
03 A& A 3H| 1,000 1,000 0
Os&2 22 Mz 1,000,000 1,000
402 SI2FXHE0| & 243,000 187,250 55,750
01 Q228 X 243,000 187,250 55,750
O=Z MUHAIEY 6,000,000& 6,000




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
ol AZOI M (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OCEZFHE| MATHHY AlEH 12,000,000 12,000
OSclY MAAEY 10,000,000& 10,000
OJlsd & THHHAIY 5,000,000 5,000
OzINSE & MM AlY 20,000, 000& 20,000
OYM A=D1 XIAAY 5,000,000& 5,000
OSUSL)| VESALLH HHE SHAL
30,000,000 30,000
ORI H Holl:s S=sLH At
130,000,000 130,000
OO0 AL ALY 25,000,000& 25,000
d&=E SHXE 50,400 52,640 A2,240
< 21,600
Al 28,800
402 RI2EX 20| ™ 50,400 52,640 A2,240
< 21,600
Al 28,800
01 BIZEAt=2 82 X 50,400 52,640 A2,240
O3 MATHH X =4 50,400,000 50,400
< 21,600
Al 28,800
ESsHE ASEHE JEN 24,724 24,724 0
= 12,362
Al 12,362
301 et a = 24,724 24,724 0
< 12,362
Al 12,362
MIIEEd= 24,724 24,724 0
OEEstE AS2H AEH 243
24,724,000 24,724
< 12,362
Al 12,362
H Ml sot 2SAE V=X 1,090,244 1,090,244 0
=) 545,122
Al 545,122
301 et d = 1,090,244 1,090,244 0
=) 545,122
Al 545,122
NMIIEEd= 1,090,244 1,090,244 0
OB THH st FEAI NS XS
1,090,244,000& 1,090,244
=) 545,122
Al 545,122
LsHAUSMAIY BHHI 6,948 6,948 0
= 6,948
201 ¢4l 6,948 6,948 0




M =X
M ASTUE < JI=Nd(sgllLb/sdY - &)
CHel AZFOLE MM CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 6,948
01 At 22l 6,948 0
gsHX=SH HHI 6,948,000 6,948
= 6,948
2= o X 2 | ALY 185,681 0
2 185,681
301 L2 A=z 185,681 0
= 185,681
1M1IIEESS 185,681 0
OEsHEEMAY 185,681,000& 185,681
= 185,681
NAEHS JIsHE(ASEE) 80,000 80,000
< 40,000
Al 40,000
402 Q12X 20| & 80,000 80,000
= 40,000
Al 40,000
01 22t E2E X 80,000 80,000
O24&JtA M2ZE HMHEX 4 AlE
80,000,000& 80,000
< 40,000
Al 40,000
Jlsd & THHHE X =4 24,000 24,000
< 9,000
Al 15,000
402 RI2FX=201 M 24,000 24,000
< 9,000
Al 15,000
01 22t 22X 24,000 24,000
OJlsd & MHHEX =4 24,000, 000& 24,000
= 9,000
Al 15,000
s&H2 ollE HELHAY 36,600 36,600
= 18,300
Al 18,300
206 24 36,600 36,600
= 18,300
Al 18,300
01 =8l 36,600 36,600
OgoiE & HH X& 36,600,000& 36,600
= 18,300
Al 18,300
FTA == &35 3,201,267 1,111,622
= 547,430
= 349,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
J| 102,000
< 552,121
Al 1,650,716
tllsBs-sll= 298,860 138,860 160,000
- 149,430
Al 149,430
201 L2l 1,000 1,000 0
- 500
Al 500
01 At 22l 1,000 1,000 0
OEZFE MM =4 1,000, 000& 1,000
= 500
Al 500
301 LB A F 6,000 4,000 2,000
- 3,000
Al 3,000
ERPTERE 4,000 4,000 0
OBETE MULK T4 WA FH S0 BY
4,000,000 4,000
= 2,000
Al 2,000
1M1IIEBELSS 2,000 0 2,000
OEZ2E MMBX X4 5J I8 AR
2,000,000 2,000
= 1,000
Al 1,000
402 RI2EXt20| ™ 291,860 133,860 158,000
- 145,930
Al 145,930
01 2I2tR2E X 291,860 133,860 158,000
OO0l RESF0/E HatHl 22 AlH
100,000, 000& 100,000
= 50,000
Al 50,000
OHA LEDZ 018 Moty et A"
60,000, 000& 60,000
= 30,000
Al 30,000
OEZRE MACX =4 131,860,000 131,860
= 65,930
Al 65,930
TESHUSHATE 80,000 68,000 12,000
< 30,000
Al 50,000
402 RIZEX20l A 80,000 68,000 12,000
< 30,000
Al 50,000




2N

M ASTUE < JI=Nd(sgllLb/sdY - &)
©9l: FTA 2= g3 (29l 8)
SN BA(SA) - MRAY - BES il HImEET
01 RIZERt2EX 80,000 68,000 12,000
ORNZE PN MeAZ AIH(AMEMH)
40,000,000 40,000
< 15,000
Al 25,000
O S PO M&AZ Al (=)
40,000,000 40,000
< 15,000
Al 25,000
AMERN Jl=E3 80,800 51,600 29,200
< 32,800
Al 48,000
402 RI2EX =20l A 80,800 51,600 29,200
= 32,800
Al 48,000
01 RIZERt2E X 80,800 51,600 29,200
OJANEZ Mooy B2 4,800,000 4,800
< 1,800
Al 3,000
OANXES DIMER A HOHZ AL
24,000,000& 24,000
< 9,000
Al 15,000
OAEJ0M XsSHH =3 AlE 8,000,000 8,000
< 3,000
Al 5,000
ONMAE &3st Al 16,000, 000& 16,000
< 6,000
Al 10,000
O=U=s4 U35 E=2Ad 8,000,000& 8,000
< 3,000
Al 5,000
ONERUTES SRS A (HO0I2T)
20,000, 000& 20,000
< 10,000
Al 10,000
s&=E MHoHEE K& 75,000 75,000 0
< 30,000
Al 45,000
307 gl & 75,000 75,000 0
S 30,000
Al 45,000
02 QIZtFAEXZ 75,000 75,000 0
OsxE Mgz X 75,000,000& 75,000
< 30,000
Al 45,000
NS0 dUXIE2 AIEXIA 65,000 65,000 0
< 28,375




M Jl=X&
HM: ASEZUE At JI=X (sSHLdFM/ s - 5=)
Sl FTA 22 223 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 36,625
402 SI2F 20| & 65,000 65,000 0
= 28,375
Al 36,625
01 Q228 X 65,000 65,000 0
ONdIISED| &x XN 33,000,000 33,000
= 12,375
Al 20,625
OL-ZotA AIAINA 16,000,000 16,000
= 8,000
Al 8,000
OMAMAAIL HUS XA 16,000,000& 16,000
== 8,000
Al 8,000
I HESIAIE 43,500 43,500 0
o= 21,400
Al 22,100
402 SI2v X0l ™ 43,500 43,500 0
=} 21,400
Al 22,100
01 812t 28 X 43,500 43,500 0
O%I| A&t A dUs XA 40,000, 000& 40,000
= 20,000
Al 20,000
0% 2YRF A (VL) 3,500,0008! 3,500
< 1,400
Al 2,100
W4 DEEAE SUHSAIY 255,000 312,500 57,500
J| 102,000
= 45,900
Al 107,100
402 SI2FXHE0| ™ 255,000 312,500 A 57,500
J| 102,000
=} 45,900
Al 107,100
01 812t X 255,000 312,500 A 57,500
Ol NEZE AMA SWSIAIY  255,000,000& 255,000
J| 102,000
& 45,900
Al 107,100
=== IHA S 6,816 12,000 N5,184
& 3,408
Al 3,408
402 SI2FXHE0| M 6,816 12,000 N5,184
== 3,408
Al 3,408
01 QI2t X2 X 6,816 12,000 N5,184
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LAEEUHE S Il (sglEd/s - &)
FTA 2= 223 SR
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OJ0 =20 8= &EOta HFAX AHE4
1,400, 000& 1,400
Ot MI=8E ALE 4T AHEH
1,500,000& 1,500
11IIEEA S 1,000 0 1,000
=ENMESE2E A 1,000, 000& 1,000
402 RI2EXt20| N 335,000 465,000 A 130,000
01 QIZEAI 22X 335,000 465,000 130,000
OJlsd wma=sk XA 30,000,000& 30,000
O ois ESILM AMEAS
10,000, 000& 10,000
O+2HY LS B ED MUY
25,000, 000& 25,000
OFUH SHH=SHX 84 40,000,000& 40,000
OSEIS A0t RUHS FHAY
80,000,000& 80,000
O1nF AXI| NIAH 60,000, 000& 60,000
o= 3 oX =4 10,000, 000& 10,000
OMHO XA AA Z0ts S MY
50,000,000 50,000
OZSJtAt2I A& 3t Al ALY 30,000,000& 30,000
SIS LAY K& 5,000 0 5,000
307 21201 A 5,000 0 5,000
02 QIZtFAEXS 5,000 0 5,000
02014 B2 L HESEL B0tY =X
5,000,000& 5,000
ANE2UH SEMHLAY 945,000 120,000 825,000
= 378,000
< 170,100
Al 396,900
402 RI2HXt20l M 945,000 120,000 825,000
= 378,000
< 170,100
Al 396,900
01 QIZERI 22X 945,000 120,000 825,000
OANEZ0 SEMLAL (LEH20)
850,000,000 850,000
= 340,000
< 153,000
Al 357,000
O3 HIJIEMBAIE XA 40,000,000& 40,000
= 16,000
< 7,200
Al 16,800
OHAAAE S XA 55,000,000 55,000
= 22,000
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402 212t A= 01 & 18,000 0 18,000
7,200
10,800

= M

01 I2tXt=2e = 18,000 0 18,000
O sxHIZ EXNXNE 18,000,000& 18,000

7,200
10,800

= M

NEEds JlsHeAd X 160,000 0 160,000
= 80,000
Al 80,000

402 QI2tXt=01 ™ 160,000 0 160,000

80,000
Al 80,000

H

01 I2tXt=28 = 160,000 0 160,000
otg 1F EF ZUTHH A AL
80,000,000 80,000

40,000
Al 40,000
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0
g &X 80,000,000 80,000
40,000
Al 40,000

H

A9 sEXNZAY 2435 X2 200,000 0 200,000
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100,000
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402 QI2tXt=01 ™ 200,000 0 200,000
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SIAS JIsHgAY 104,676 0 104,676
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Al 52,338

402 212t A= 01 & 104,676 0 104,676

52,338
Al 52,338
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01 IZtXt=28 X 104,676 0 104,676

ANEEI SOtAtel 28 KIITHEE AlE

104,676,000 104,676
= 52,338
Al 52,338
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sIIHOIESEH 468,359 271,296 197,063

= 16,900
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2N

X{ XH -
S =

Jl=X & ot

ANE=
=S

e Qs Ji=Xd (s

@2 sIAHSSU (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 247,499
S H YA 57,000 57,000 0
201 LBt Y| 27,000 27,000 0
01 AP 22| d| 2,000 2,000 0
ogBtEA| 2,000,000& 2,000
02 E32%H| 25,000 25,000 0
023222 ¥ MAH 13,000,000 13,000
OA4d, S8 EHl <Xl 5,000,000& 5,000
OXtgHe] 7,000,000& 7,000
401 A& HI L 20l 20,000 10,000 10,000
01 Al&H| 20,000 10,000 10,000
OsJIH Uz & AN AlLDEH|
20,000,000& 20,000
405 XHAHF S HI 10,000 20,000 A 10,000
01 XA 2 ZF S| 10,000 20,000 A 10,000
OsIIHLUWEY 2 10,000,000 10,000
s ZAE sIH 23 AL 57,500 44 796 12,704
= 23,000
Al 34,500
402 SI2FXHE0| & 57,500 44796 12,704
= 23,000
Al 34,500
01 Q1228 X 57,500 44,796 12,704
OXEH =48 sIAH B2 57,500,000 57,500
= 23,000
Al 34,500
SIHHLNESESHAIE-Il=X & (24]) 16,900 61,000 AN44.100
= 16,900
301 et A= 2,200 3,000 A 800
= 2,200
09 HAIAHI EAZ 2,200 3,000 A 800
OsgllHNE EAAY 2,200,000& 2,200
= 2,200
405 XHAHF S HI 14,700 58,000 A 43,300
= 14,700
01 AL 2 ZF S| 14,700 58,000 A 43,300
OsJ|HRs & XA 14,700,000 14,700
= 14,700
sIH=3 %2l XN 69, 159 69,650 AN491
101 2121 H] 21,159 21,650 AN491
04 JI2ZtHIZ22NEE S 21,159 21,650 AN491
© sJIH =32l (1H) 21,159
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2A: Jl=XAB
. ASZUE s JI=KA( .
el sJIH0IESU (9 ® =)

Ol

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
cQlE 65,4803 210 13,751
oFXtrg 65,480% 44 2,882
o A2t =Y 13,580 *40A| 2+ 3 1,630
oIt 61,080 12 733
oxUHIS 4UHEE 16,633,000 *13% 2,163
201 Let2d] 3,000 3,000 0
02 2324l 3,000 3,000 0
OXtgH eyl (R XIEl) 3,000,000& 3,000
206 M= Hl 30,000 30,000 0
1T M=dl 30,000 30,000 0
OsJlAesls=elusg 2FX& 30,000,000 30,000
402 RIZFX20l A 15,000 15,000 0
01 RIZERt2E X 15,000 15,000 0
ot=sxa=EI X& 15,000, 000& 15,000
S NEEdEME-II&XNE(ZHl) 20,800 3,400 17,400
< 8,960
Al 11,840
202 oddl 7,200 1,700 5,500
= 2,160
Al 5,040
04 =X 204l 7,200 0 7,200
ONESII NS 012 X
7,200,000& 7,200
= 2,160
Al 5,040
402 RI2tXt20l ™ 13,600 0 13,600
< 6,800
Al 6,800
01 IZERI 22X 13,600 0 13,600
ORLSRS MAIIAN(ASR 2L
) 5,600,000 5,600
= 2,800
Al 2,800
O2LETS MAIANH(2LII))
8,000,000 8,000
< 4,000
Al 4,000
HA SO ShSMA oloet A= 80,000 15,450 64,550
< 80,000
402 RI2HX=01 M 80,000 15,450 64,550
< 80,000
01 RIZEAt=2E X 80,000 15,450 64,550
O HR=XALI|EHIXIE 80,000,000& 80,000
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AN JlsXE B

H: ASBUE 98 Il (s /=d - &)

el sIIHESH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| < 80,000
sEXNEAME =& ZHIXA 150,000 0 150,000
< 75,000
Al 75,000
405 RHoHE S HI 150,000 0 150,000
< 75,000
Al 75,000
01 et EZFH S 150,000 0 150,000
o3Ls & ==J ¢ 100,000, 000 100,000
= 50,000
Al 50,000
O=ZAlHl B =812 *& 50,000,000 50,000
< 25,000
Al 25,000
SO HLUAY SIAHXE 17,000 0 17,000
S 17,000
405 XHobF S HI 17,000 0 17,000
< 17,000
01 et ESFH S 17,000 0 17,000
O 28Rt 3,600,000& 3,600
< 3,600
OWHS=A1D| 4,000,000 4,000
< 4,000
otlAa=2= 4,000,000 4,000
< 4,000
OZEHHI0NE 5,400,000 5,400
< 5,400
HE2AAUI (DX ) (IEHIIEL) 131,114 220,521 89,407
el 2 70,914 160,441 A 89,527
ol 2| 70,914 160,441 A 89,527
101 @14l 70,914 160,441 A 89,527
01 2= 70,914 71,000 A 86
oxzu2R+¥ 70,914
SPNE= 11,3893 » 18 »40A| 2t + 12E 5,467
ob= 11,3643 » 1 «40A| 2t 122 5,455
c6= 9,692% «2H «40Al 2t <12 9,305
o7= 8, 7543 x2F +40Al 2t+ 128 8,404
o XIS A 40,358
-215 30/ & 9,342 *9H x40A| 2tx 123 40,358
oXRMH 68,717,000& »2.8% 1,925
Jl= &3l 60,200 60,080 120
Jl=dl 60,200 60,080 120
201 Let4d] 10,000 10,000 0
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AN JlsXE B
M HHE2HAH(JI=X2)(IEHIIE)

@ Jl2gl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

01 AFR2t2ldl 7,000 7,000 0
oOgst2H| 5,000,000& 5,000
O3&H| 2,000,000& 2,000

02 53294l 3,000 3,000 0
O™ ZHl 3,000,000& 3,000

202 (4] 43,200 46,080 AN 2,880

01 2L Y| 43,200 46,080 AN 2,880
oO2UW=E&0 Y| 240,000& x15H x12& 43,200

203 ¥R =&H| 3,000 3,000 0

04 ENSIHRE=XY| 3,000 3,000 0
ORANEE HRF=AH| 250,000& =128 3,000

405 XtabF SHI 4,000 1,000 3,000

01 AL 2B F SHI 4,000 1,000 3,000
OAIR4 EI|7 4,000,000& 4,000
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